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1. What value of y satisfies the system of equations

below?
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3. What is the sclution to the system of

equations shown below? Show all work.
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2. Graph the solution to the system of equations
below? ‘
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4. Whatis the solution to the system of equations
shown below? Show all work.
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5. A system of equations is shown below.

2x-y=4
x-2y=-1

Which operaticns on the system of equations could be

used to isolate the x-variable? TZZ;MOVQ
lﬂ S

A.
the first equation.

B.
to the first egnation.

C. Multiply the d chuatlon by 4 and add the
result to the %uatlon

D. }Multiply the.ge equation by -2 and add the
result to the fiast equation.

3elon

Divide the first equation by 2 and add the result to

Divide the first equation by -4 and add the result

6. A movie theater sells small and large boxes of
candy. X= Smol\

y=lorae

7. A system of equations is shown below.,

"“2@}( + 5y = 7)

() +54y="1

¢ A smali box of candy costs $4.00. 16x+ 10y =18 _
¢ Alarge box of candy costs $11.50. _ 2+ ‘5}&3 =
» Atotal of 30 boxes of candy were sold What is the value of x + y ?
totaling $225. - 3% =10y "“*M 55 :i
How many large boxes of candy were sold? Ty =4 =\
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B Hs-Mx-10)=-8  lbx-5 C —Loi—t%qwzo
Uy -4% 4+l =-5 & t % figy=30. O

8. Which system of equations has exactly one 9. Suzi is 24 years older than her cousin Adam. The
~ solution? _ o - sum of Suzi’s and Adam’s ages is 60 years old. How old
- %_%’( ,5?5?:( D ’;f\ isAdam? S= S0Zv Az Adoum
A p=x-1 2= : S = A
( x-3y =-1 -®wx3z-) =24 & _ :
T2 5 Sv A= D S=2U 4R
B. y=4x-16 —_— e _ =42,
4x-y=- = =\ (.?—"\'\'A\—"-A"LDO S
X =4 24 % 2A=00 Adaun 1
C. x+3y=5 ~2.4 —23 \ R
6x + 18y = 30 — —=G A- | B (s
2ZA=2v A=\ O\d,
10.Mary is solving a system of linear equations by 11. Sandy paid $52 for 3 adult and 2 child tickets to a

graphing. First, she graphed both equations on a play. Kira paid $44 for 1 adult and 4 child tickets to the
coordinate plane. What should be her nextstepin | same play. What is the cost of 2 adult and 1 child ticket?

solving the system of linear equations? o= odu\tr Czewind

A. find the x-intercept of each line ._55(2 ‘:-ZU‘CCj—S%L{)A O- % L{Lﬁ‘b =4y
B. find the y-intercept of each line - Oe &+ 32 =4y
C. find the measure of the angles where the lines 205 2C=52 -\

intersect ¢ Y -30.-\2¢z B2 o- =1

‘- 2 Adott4

D.¥ind the location of the point where the lines ~ 10 L=~gO Aavly $ 'z | Chi ld

intersect - \ c=<2] Chitd § 202N +R=
12. John bought 8 hot‘dogs and 5 sodas for $25.50. 13. At the school store, 3 pes and 2 notchooks cost a ﬂ%—a

Alicia bought 4 hot dogs and 3 sodas for $13.50. How total of $12, while 1 péﬁ'l and 3 notdbooks cost a total of
much would 1 hot dog and 1 soda cost? %= Wot dofﬁ $11. What is the cost of one notebook?

BYA50=25.50 =sScdas 3AX+24=12 §3.00
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14. The[Sim pf two positive numbersGsEo¥'he 15. What value of ysatisfies the system of equations

- hetween the numbers iWhat is the value | below?
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16. Tom wants to compare two different plans for gym

e first plan charges a pf

creates a graph to flnd the solution to thlS palrof
equations. A Plan 2
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Which statemment MOST accurately compares the two

plans?
A.1f Tom plans to go to the gym 14 or fewer

times during the month, he will pay less with nd
the second plan, Moveg, with 2

f Tom plans to go to the gym 14 or fewer
times during the month, he will pay less with the
first plan.

C..IfTom plans to go to the gym 14 or more
times during the month, he will pay less with the
second plan.

D. If Tom plans to go to the gym 14 or more
times during the month, he will pay less with the
first plan.

17. Eli created the graph shown below of a system of
two equations. From the graph, Eli determined that the
system has no solution.
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Which choice BEST explains whether or not Eli is
correct?
A. Eliis correct. The two lines appear to be
parallel, so there is no solution to both
equations.

' Eli is correct. The two lines have the same
slope, so there is no solution to both equations.

C. Eliisincorrect. The two lines appear to be
paralle], so there are infinitely many solutions
to the equatlons

D. Eliis incorrect. The two lines have different
slopes, so there is a solution that does not
appear in the graph.

18. A system of equations is shown below.

Bx -6y =-12
4x -9y =5

Which operations on the system of e
wiluantity? Remo X S
A. Multiply the second equation by 2 and add the
result to the first equation.
.Multiply the second equation by -2 and add
the result to the first equation. ey M‘é\f_,\,e
C. Multiply the first equation by 9 and the
second equation by -6 and add the resulting
equations.
D. Multiply the first equation by -9 and the
second equation by -6 and add the resulting
equations :

atlons
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19. Michael has a jar of dimes and nickels. There are
152 dimes and nickels in the jar that total $11. If
| d fepresents thejnumber of dimes yind

represents thg number of nickels}which system

of equations below represents the situation?

15¥% ‘ecboo.t\‘o'ﬂ

A d+n=11
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20. Samuel is buying hamburger meat and hot dogs for
a class picnic.

e
He can spend up to $100.
The hamburgéT"Tn'é_:;t costs $3.29 per pound,
and a package of hot dogs costs $2.89.
Samuel wants to buy at least 10 pounds of
hamburger meat and at least 10 packages of
hot dogs. z
Which system of inequalities models the constraints
on the number of pounds of hamburger meat, x
and number of packages of hot dogs, y, Samuel can

buy?

9

3.29x+2.89y <100 B. 3.29x+ 2.89y <100

xz= 10 x> 10
) y=10 y>10
e
C. 3.29x+2.89y <100 D. 3.29x+ 2.89y < 100
x+y=10 x+y>10

21. What is the x-coordinate of the point of &
intersection for the two lines below? 3
—

. —10 L6x + 8y = -6)
~¥(7x- 10y = 9)
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22. The sum of two numbers is 41.4. The difference
between the two numbers is 7.6. What is the value
of the larger of the two numbers?
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23. TWO functions are shown below. <o+ @:bua\
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f(x)=4x+2
g(x)=-3x+9

What is the value of x where the graphs of f(x) and g(x)

intersect? D

HX12 = -4+

24. Which system of inequalities is graphed below?

‘{f)ﬁ? | 8) L %x-yz—?; Y= K
%

x-y<-3 YIAK

+3

x-yz4 Y=Y

X-y=-3 Y<ULED
X-ys4 Y= K

+2% + BX x-yz4 Y=< X
ﬂ”‘f% :-92., Y=\ AT e
Y = 7 ~ oyt AzX

25. Which ordered pair is a solution to the system of 26. A system of inequalities is shown below.
inequalities below?
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In which quadrants is the solution set to the systems? q
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